INSTRUCTIONAL EQUIPMENT REQUEST | Internal Use | Fall-34

	2018-20	19	S	EP 1 3 2018	Total \$:
Requester Name	Andrew Lozano & Er	ic Harpell		emps division nsName: ST	EM
	SUM	IMARY II	NFORM	IATION	
Title of Item: Ne	w Equipment to Exp	and Physics	Labs		
Equipment Location	n Building: 1800			Room: 1831	
Location Comments:					
SECTION 1: EQ	DUIPMENT DESC	CRIPTION	Ţ	P.	
The equipment is:	A Replacement	An Upg	rade	New Equi	ipment/Technology
Describe the specific equipment requested and how it will be used to replace, upgrade or provide new technology to LPC from what is currently in place:					
increase in enrollment for sections each semester. engineering cohort. With solution to this is to oper of the necessities require physics lab rooms with n Our basic optical equipm	om 2014 (program review, 2 As well as general increase the addition of lab sections the engineering Lab, 1822 and for proper physics labs. In the equipment conflicts. The proper physics IB has been and longer supported by Page 1.	2017). This incred ed enrollment, as 1831 (Lab Span, for some phys This is equipment ome worn and r	ease has rea new Lab sace for physics labs. Ho ent request	quired the departnection, Phys 10L, sics) is now encoupwever, the engine will allow rooms 18	students enrolled. This is a 60% ment to add courses and increase lab has been created to better sever the intering scheduling conflicts. A pering lab is not equipped with some 831 and 1822 to operate as separate years it has been in service. The end to be replaced with new
Large Table Clamp	ab annex ly ment lustrates this non-intuitive ic that can be mounted either		ADMIN		18

Vender	Vender Product ID	Product	Description	Unit	Qnty	Price	% of
				Price			total
Pasco	OS-8515C	Basic Optics System	PASCO's Basic Optics System is easy to use, affordable, and ruggedly designed for both geometric bench optics and table ray optics investigations.	\$495.00	8	\$ 3,960.00	16.3%
Pasco	OS-8453	Precision Diffraction Slits	Includes two slit wheels allowing students to examine various diffraction patterns	\$210.00	8	\$ 1,680.00	%6.9
Pasco	SF-9214	2.0 m Air Track	An air track glider provides the raw material for highly accurate investigations into the laws of motion.	\$750.00	8	\$ 6,000.00	24.7%
Pasco	SF-9216	Variable Output Air Supply	Must go with Air track. The PASCO Air Supply is exceptionally quiet. Its variable output lets students match the air flow to the experiment	\$530.00	8	\$ 4,240.00	17.5%
Pasco	SF-9295	Air Track Accessory Kit	Air Track This accessory kit comes with every PASCO Air Track. All that's needed is a timing Accessory Kit system. The set may also be ordered separately.	\$ 20.00	8	\$ 160.00	0.7%
Pasco	ME-6800	Projectile Launcher	The Projectile Launcher illustrates the idea that motion in different dimensions is absolutely independent.	\$365.00	8	\$ 2,920.00	12.0%
Pasco	ME-9472	Large Table Clamp	PASCO's Large Table Clamp can attach to tables, shelves or other boards up to 10 cm thick.	\$100.00	12	\$ 1,200.00	4.9%
Pasco	ME-8968	Spherical Mass Set	This spherical mass set includes four balls with a diameter of 25 mm each, but featuring various masses and rotational inertias	\$ 60.00	8	\$ 480.00	2.0%
Pasco	SE-8759	Hooked Mass	This rugged Hooked Mass Set is made from cast-iron and coated with enamel.	\$ 55.00	∞	\$ 440.00	1.8%
vernier	ACC-ROD	Rod for Dual- Range Force Sensor	Accessory for pulley	\$ 4.00	15	\$ 60.00	0.2%
vernier	SPA	Ultra Pulley	Add an Ultra Pulley to your Photogate to monitor motion as a string passes over the pulley, or as the pulley rolls along a table	\$ 24.00	15	\$ 360.00	1.5%
vernier	VPG-BTD	Photogate	Photogate to monitor motion	\$ 45.00	15	\$ 675.00	2.8%
vernier	MD-BTD	Motion Detector	The Motion Detector uses ultrasound to measure the position of carts, balls, people, and other objects	\$ 79.00	4	316	1.3%
vernier	DFS-BTA	Dual-Range Force Sensor	The Dual-Range Force Sensor is a general-purpose sensor for measuring pushing and pulling forces.	\$109.00	4	\$ 436.00	1.8%
vernier	LABQ2	LabQuest 2	Vernier LabQuest 2 is a standalone interface used to collect sensor data with its built-in graphing and analysis application	\$329.00	4	\$ 1,316.00	5.4%
						\$24,243.00	100.0%

SECTION 1: EQUIPMENT DESC	CRIPTION (contd)
If applicable, describe the legal requirem making specific reference to the legal req	ent, mandate, or safety concern for purchase of this equipment, uirement or regulation:
There are no safety concerns for the purchase. All e	equipment on the order are safe and already is used in the lab room.
SECTION 2: LPC MISSION STA	TEMENT AND LPC PLANNING PRIORITIES
LPC MISSION STATEMENT: LPC is an inclusive learning-	LPC PLANNING PRIORITIES: * Accreditation: Establish regular and ongoing processes to implement best
centered institution providing educational opportunities and support for completion of students' transfer, degree, basic skills, career-technical, and retraining goals.	practices to meet ACCJC standards. Curriculum: Provide necessary institutional support for curriculum development and maintenance. Tutoring Services: Expand tutoring services to meet demand and support student success in Basic Skills, CTE, and Transfer courses. Professional Development: Coordinate available resources to address current and future professional development needs of faculty, classified professionals, and administrators in support of educational master plan goals.
Physics 10L, the Extended lab for engineering coho	C's Mission Statement and Planning Priorities: ort, provides educational opportunities and supports basic skills, career-technical, ohort as well as the Engineering and Physics student body that have goals towards
The new equipment is necessary to support the rev replacement for old or damage equipment.	ised curriculum of Physics 10L's development, as well as, maintenance and
In order to meet and implement best practices of the need of a revamp because the equipment is no long	e ACCJC standards, updated equipment is need. Currently, the optics labs are in ger supported by the company and has become worn, broken, or missed placed.

SECTION 3: EDUCATIONAL ITEMS – PROGRAM REVIEW
Specify the educational programs this equipment supports:
Physics 1 Series, mainly: 3 sections of 1A and sections 1B; Physics 2A & 2B Physics 10L
If this equipment is included in your Program Review, please include the exact wording. If equipment is
not included, explain why:
Specific equipment is not included in the Program Review, however the need for greater lab space is reported: "As described above, we have been experiencing increased enrollment in our physics classes as the college grows. We have had increasing difficulty scheduling our twelve 3-hr lab classes inside our single physics lab classroom (rm 1831). Somedays, the lab room is in constant use from 8am to 10:30pm and it's becoming very difficult to schedule our long lab classes without conflicting with other math/science courses. Consequently, we have a great need of an additional physics lab room. 1822, conveniently next door to both the physics lab room and the equipment storage area, is currently being used as the engineering lab room. However, it is in use infrequently. In the short term, hosting some physics labs there should work. As both the engineering and physics programs grow, however, this will also become unsustainable. It is also not an ideal arrangement in terms of space, because both engineering and physics labs require lots of different equipment. Engineering equipment in particular tends to be larger and not portable. A much better option would be having at least 2 lab rooms designated for physics and astronomy labs. The 1826 room (currently used as a lecture room) was originally designed to become an additional lab room when program needs required. Use of this room as a lab room would greatly help the program. Of course, this would require extra lecture space to replace the 1826 room, which is frequent use."
The need for expanding space came before deciding what lab would be place in the space, room 1822. The department is confident that this new equipment will supplement and ease pressure from 1831.

SECTION 6: TOTAL COST OF OWNERSHIP (FINANCIAL & SUSTAINABILITY)
What is the potential life span of the requested equipment?
10-15year
If new storage is needed what are the storage requirements, location requirements, and costs associated with the new equipment: (NOTE: Specific storage costs should be detailed in the "Part A: Initial Start-up Costs" section below.)
No additional coast will be needed for storage
If this equipment replaces old equipment but the old equipment will not be retired, are there on-going storage requirements, location requirements, and costs associated with the old equipment? If so, provide details.
That items that are being replaced, mainly the optics (but also air tracks), with be kept as spare equipment. No cost associated with old equipment
What will be required to maintain the equipment, such as regular servicing or upkeep? (Specific on-goin costs should be detailed in the " <i>Part B: On-Going Annual Operating Costs</i> " sections below as applicable.)
N/A
Explain how this equipment meets or exceeds basic sustainability efforts and/or provides renewable resources to the college:
Some of the equipment, including Logger-Pro units, mass sets, and table clamps will be used in a future EVST 5 Lab that is currently under development. As well, air tracks, air pumps, and optic kits use less power than existing systems and therefore will represent a small decrease in campus power use meeting the basic sustainability effort.

SECTION 6: TOTAL COST OF OWNERSHIP (contd)

Part A: Initial Start-up Costs

<u>Item</u>	Cost	<u>Comments</u>
Equipment or Materials	24,243.00	
Taxes (9.5%)	2250.46	
Shipping or Delivery Charge	100	approx
Installation Costs *		
Miscellaneous Costs:		
Facilities Modifications		
Operator Training		
Maintenance & Repair Training		
Storage		
Other:		
Vendor Discount		
Grand Total:	26,646.1	

^{*}For items requiring installation, requesters are required to check with District Purchasing (Victoria Lamica) regarding District policies.

Part B: On-Going Annual Operating Costs

<u>Item</u>	Cost	<u>Comments</u>
Annual Service or Maintenance		
Estimated Parts Replacement Per Year		
Outside Standardization or Calibration		
Costs		
Storage Costs		
New Supply Costs		
Miscellaneous Costs:		
Maintenance & Repair Labor		
Other:		
Annual Operating Costs:	0	

Indicate the source of funding for on-going annual operating costs:

SECTION 6: TOTAL COST OF OWNERSHI	P (contd)
Part C: Incremental Labor Costs	
OPERATOR:	
Indicate the key operator: Lab Tech Studen Yes Is this in their current scope of duties?	f
Is this in their current scope of duties? Yes	
Indicate cost to train key operator (include in Initial St	art-up Costs above):
Indicate amount of time per month key operator will u	se equipment: 2 / mon fl
MAINTENANCE & REPAIRS:	b. forth
MAINTENANCE & REPAIRS: Indicate the person performing maintenance and repair Is this in their current scope of duties? Yes	rs: Lap Tech
Is this in their current scope of duties?	
Indicate cost to train for maintenance and repairs:	0
Indicate amount of time per month maintenance will be	e required:
APPROVALS Funded requesters will be expected to respond to a brick Requests for computer-related equipment and printers Signatures: Requester	
IT Department (if required)	Date
Dean/Manager	9-14-18 Date
Vice President	9/21/18 Date
vice i resident	Date
	RECEIVED
	SEP 21 2018
	VP ACABELLE SURVICES LAS POSITAS COLLEGE

LAS POSITAS COLLEGE Equipment, Apparatus and Service Requisition #R

FOR REIMBURSEMENT: List payee name & ssn.	t payee name & ssn.	Sn. TAX ID#	*	6 F DJU	0.10				
SUGGESTED VENDOR	Pasco.com			ULI 1 0 0	0	•	FOR (FOR OFFICE USE ONLY	ONLY
NAME OF STAFF MEMBER Andrew Lozano	DATE WRITTEN 9/12/2018	DATE REQUIRED DIVISION 12/31/2018 STEM	ON/ DEPARTMENT FO	DATE REQUIRED DIVISION/ DEPARTMENT For inventory purposes; 12/31/2018 STEM equipment will reside; 12/31/2018 STEM equipment will reside; 12/31/2018 STEM state of the stat	m# where		RETURN COPY of REQUISITION TO: L. Cross, A. Lozano	of REQUISIT . Lozano	TION TO:
DESCRIPTION	(PRODUCT, TY	TYPE, SIZE, COLOR, STOCK NUMBER)	OCK NUMBER)		UNIT	QTY	UNIT PRICE	EXTE	EXTENDED COST
OS-8515C	Basic Optics System	PASCO's Basic Optics System is easy to use, affordable, and ruggedly designed for both geometric bench optics and table r	System is easy to both geometric be	PASCO's Basic Optics System is easy to use, affordable, and ruggedly designed for both geometric bench optics and table ray		∞	\$ 495.00	↔	3,960.00
OS-8453	Precision Diffraction Slits	Includes two slit wheels diffraction patterns		allowing students to examine various		∞	\$ 210.00	↔	1,680.00
SF-9214	2.0 m Air Track	An air track glider provides the raw minvestigations into the laws of motion	ides the raw mate laws of motion.	An air track glider provides the raw material for highly accurate investigations into the laws of motion.		ω	\$ 750.00	↔	6,000.00
SF-9216	Variable Output Air	Must go with Air track. Its variable output lets	The PASCO Air S students match the	Must go with Air track. The PASCO Air Supply is exceptionally quiet. Its variable output lets students match the air flow to the experiment		∞	\$ 530.00	↔	4,240.00
SF-9295	Air Track Accessory Kit	This accessory kit com needed is a timing syst	nes with every PAS tem. The set may	This accessory kit comes with every PASCO Air Track. All that's needed is a timing system. The set may also be ordered separately.		∞ -	\$ 20.00	↔	160.00
ME-6800	Projectile Launcher	The Projectile Launcher illustrates the dimensions is absolutely independent.	er illustrates the id	The Projectile Launcher illustrates the idea that motion in different dimensions is absolutely independent.		80	\$ 365.00	↔	2,920.00
ME-9472	Large Table Clamp	PASCO's Large Table Claborates up to 10 cm thick.	Clamp can attach ck.	PASCO's Large Table Clamp can attach to tables, shelves or other boards up to 10 cm thick.		12	\$ 100.00	↔	1,200.00
ME-8968	Spherical Mass Set	This spherical mass set includes four balls with a diamete each, but featuring various masses and rotational inertias	et includes four baious masses and	includes four balls with a diameter of 25 mm ous masses and rotational inertias		œ	\$ 60.00	↔	480.00
SE-8759	Hooked Mass	This rugged Hooked IV with enamel.	lass Set is made t	This rugged Hooked Mass Set is made from cast-iron and coated with enamel.		∞	\$ 55.00	↔	440.00
			Deliver To, include room # (optional):	om # (optional):				↔	1
Vendor Information/ Remit To:	emit To:	Room	1824					\$	1
on file								\$	1
	ı	v	AECEA	TEALE	Subtotal			↔	21,080.00
Comments: Physics			SEP	21 2018	Тах		\$ 0.0950	↔	2,002.60
Instructional Equipment Request: PHYSICS	pment Reque	st: PHYSICS	VP ACADEM	ACADEMIC SERVICES	Shipping	(if ava	(if available):		\$0.00
No Substitutes			45 15 15 15 15 15 15 15 15 15 15 15 15 15	AS COVIEGE		9	TOTAL COST	\$	23,082.60
Original invoices and receipts must be attached for payment. Include current taxes unless incorporated in price. $\mathcal{H}_{\mathcal{H}}$	ots must be attached	d for payment. Include curr 7cm H 9/14/11	ent taxes unless inc	orporated in price.					
ACCOUNT #	£ FUND	ORG	ACCT	PROGRAM	Business Office	s Office			
A PAPA COVO AND REQUIDITION SEPTOBURITH BION DIRECTOR	Regulpiëroi8arrodo	ช⁄คัศค8t671®irector		Dean/ VP/ President	Presider				



YOUR CART

CONTINUE SHOPPING

Your cart

view wish LIST 👂 Cart Help

Cart ID: 2562901

Date: 09-12-18

Customer ID: 14045152

Desc	ription (SH	OW DETAIL	Qty	Price *	TOTAL
>	OS-8515C	Basic Optics System	8 Remove >ACTIONS	\$495.00	\$3,960.00
•	OS-8453	Precision Diffraction Slits	8 Remove >ACTIONS	\$210.00	\$1,680.00
ř	SF-9214	2.0 m Air Track	8 Remove PACTIONS	\$750.00	\$6,000.00
b	SF-9216	Variable Output Air Supply	8 Remove (PACTIONS)	\$530.00	\$4,240.00
	SF-9295	Air Track Accessory Kit	8 Remove VACTIONS	\$200.00	\$1,600.00
)	ME-6800	Projectile Launcher	8 Remove VACTIONS	\$365.00	\$2,920.00
	ME-8968	Spherical Mass Set	8 Remove PACTIONS	\$60.00	\$480.00
Þ	SE-8759	Hooked Mass Set	8 Remove >ACTIONS	\$55.00	\$440.00
>	ME-9472	Large Table Clamp	12 Remove PACTIONS	\$100.00	\$1,200.00
C	QUICKADD: En	ter Part Number 1 ADD			

* All displayed prices are for US Educational Institutions only.

Estimated Shipping Weight: 658.0 lb = 373.09 kg

Estimated Shipping Volume: 54.80 cu. ft.

UPDATE

SubTotal:

\$22,520.00

CONTINUE SHOPPING

NEXT STEP

PASCO Terms and Conditions

#

LAS POSITAS COLLEGE Equipment, Apparatus and Service Requisition

360.00 675.00 316.00 436.00 60.00 1,316.00 \$0.00 300.49 3,163.00 3,463.49 EXTENDED COST RETURN COPY of REQUISITION TO FOR OFFICE USE ONLY L. Cross, A. Lozano 8 8 8 69 6 63 6 6) 6 6 63 63 8 6 6 69 8 3 TOTAL COST 4.00 45.00 79.00 24.00 QTY UNIT PRICE 109.00 329.00 0.0950 Shipping (if available): S 5 S S 69 8 **Business Office** 5 15 4 15 4 4 Dean/ VP/ President DATE REQUIRED DIVISION/ DEPARTMENT For inventory purposes frictide room # where Subtotal LIND 1824 Tax Add an Ultra Pulley to your Photogate to monitor motion as a string Vernier LabQuest 2 is a standalone interface used to collect sensor The Motion Detector uses ultrasound to measure the position of The Dual-Range Force Sensor is a general-purpose sensor for equipment will reside: passes over the pulley, or as the pulley rolls along a table Deliver To, include room # (optional): Original invoices and receipts must be attached for payment. Include current taxes unless incorporated in price. VP ACADEMIC SERVICES LAS POSTEAS COLLEGE data with its built-in graphing and analysis application PROGRAM SEP 21 2018 RECEIVE (PRODUCT, TYPE, SIZE, COLOR, STOCK NUMBER) carts, balls, people, and other objects measuring pushing and pulling forces. ACCT Photogate to monitor motion Room 1824 STEM Accessory for pulley 0 Supervisor/ Coordinator/ Director Instructional Equipment Request: PHYSICS 12/31/2018 3 APPROVALS Supervisor/ Coordinator/ Direction of the control of the ORG Vernier.com Rod for Dual-FOR REIMBURSEMENT: List payee name & ssn Force Sensor Range Force DATE WRITTEN 9/12/2018 Dual-Range LabQuest 2 Ultra Pulley Photogate FUND Detector Motion Vendor Information/ Remit To: ACCOUNT # NAME OF STAFF MEMBER SUGGESTED VENDOR Comments: Physics Andrew Lozano DESCRIPTION No Substitutes ACC-ROD VPG-BTD **DFS-BTA** MD-BTD LABQ2 on file SPA

Vernier Software & Technology

Your Cart

Quantity	Product	Order Code	Unit Price	Total
15	Replacement Rod for the Dual-Range Force Sensor, Photogate, or the WDSS	ACC-ROD	\$4.00	\$60.00
15	Ultra Pulley Attachment	SPA	\$24.00	\$360.00
15	Photogate	VPG-BTD	\$45.00	\$675.00
4	Motion Detector	MD-BTD	\$79.00	\$316.00
4	Dual-Range Force Sensor	DFS-BTA	\$109.00	\$436.00
4	LabQuest 2	LABQ2	\$329.00	\$1,316.00
Add a pro	duct by order code Add		Product Total	\$3,163.00
			Subtotal	\$3,163.00

Vernier Software & Technology 13979 SW Millikan Way Beaverton, OR 97005 United States of America

Phone

1-888-837-6437

Fax

503-277-2440

Email

info@vernier.com

